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Sleyenrset : (1) Simarsg elaras@sn sllurs USeurd o dreTsm eremUsanan
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@O0y : UGS -1 (2uWifl-graurelue), uGH-I1 (W@ -leomdud) &l & & el

Note :

@mlly

Note :

eflen_gsrafled eflen_wefldsayb.

‘Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

LGS - I (29 - sreurefliuey) / PART - I (BIO - BOTANY)
(ngliGuamaer : 35) / (Marks : 35)

Yfley - I/ SECTION - I
i) Simensg elamssEréEn el walsseb. 8x1=8
(i) OCaETEssLLLL BrenE eflansefle) isayd eriLenw efenL WGener

Caiplshés GO (HLer eflenulenamid Ceirgg) er(psayLd.
()  Answer all the questions.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

[ Q@DLIEB / Turn over



s CLCs Tl LTadlevd@ Geum Guwir :

(<) Qs DABHSIBD : () Qeed aflapruEse
(8) Qs sfley | (/) Gad &mey
Phagocytosis is also known as : |

(@) Cell drinking (b) Cell eating

() Celllysis (d) Cell death

B . . ’P
TG Sraursdled Geneadr epab @earlibLmEsD el CLnSng|

(=t) 2 mever (<)) Spefwen
(@) YerrCumAeevid (FF) amyL

The plant which propagates with the help of its leaves is :
(a) Potato ' (b) Onion

(¢)  Bryophyllum (d) - Carrot

Gaulr Ggmiibs@EpsEL udeors Caurliemusar TESTAUTSHD HTarTiLHdleman :

(1) maplfedbeor (=) W AEGafur
(@) eSlwGarrs s Qeveor ‘ () edamiefwm
The Root Pockets are present instead of root caps in

(a) Hydrilla _ _ (b) Utricularia

(c) Limnophylla (d) Eichhornia

Ceur pyéasaier sremiiL@id 2Elleen sLg4) -

(1) Qas - afGureECarm9er (<=1) ®BLCrralGee
(@) sCGrrigemi@ser (W) UFerewid

The oxygen carrier present in the root nodtﬂe is called

(@) leg- hemoglobin (b)

nitrogenase

(¢) carotenoids (d)  chlorophyll
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LGy GLmlerrsd erem QUL ey :

(=) pruml an®s (<gp) prufl LiQmer

(@) efeSian & aflouman () yirfleng)
Coined the term ‘Protoplasm’.

(a) Robert Hooke (b) Robert Brown

(c) Schleiden and Schwann (d) Purkinje

avi§edlev LermarGLrD eremy mraflen <pAfwir wirt ?

(1) grenGy (<=, M1

(@) abliiGur &Gy g () &Grreev edlenGamua
The author of Species Plantarum is :

(a) John Ray (b) Sarac

(c) Hippocrates (d) Carolus Linnaeus

QupCorALLD sSraiiLL s Wwhasw smawampuid sramiulL udr Curs
GubasiLb sraruu@eig) : |

(1) apgrengwi uam Geuaflium(

(<3) Gapmoer@een

(&) QramL_né SGSD

() uren Qgeflediev

The grand children may exhibit a feature of an earlier generation not seen in parents.
This is called : ‘
(a) Atavism

*(b) Homunculus

(c) Blending

(d) Pangenesis

spanTLCaCL safl 2 HarEL Hlapés] :

(=) HNGramil] (<) umisSGarm s
(@) HelsEeur () Gum wrerd

The phenomenon of development of fruit without fertilisation is :
(a) - Cremocarp (b) Parthenocarpy

(c) Siliqua (d) Pomology
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aGCs@Ib mrenE olamssensE el waf.

lﬁ]lﬂsq - II / SECTION - II
4x2=8

Write any four of the following :

9.

10.

11.

12.

13.

14.

S eremiu@eug wimrg) ?

What is peat ?

Slermeivioréseia] orem Gsitay sLES Fela| eranm HempssILHSDS ?

Why is the plasma membrane known as “Selectively permeable membrane” ? Give

reasons.

B CLT o oCUTTSET eTemianel WiTene ?

What are Pneumatophores ?

S|ODGET LM ooL{&eT - eI,

Define “allelomorphs”.

aanL_ Gy ol960a0l Grempimed GTemam ? 2 FTFeurid S(Hs.

What is meant by Hydrophily ? Give an example.

HEILN9ES (PG WITE CUATRIGET eTaTDIE 6Tevan ? er(HEGIGST(HE S(Hs.

What are non-renewable resources ? Give an example.
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Wfley - 111 / SECTION - III

sL_Lmuwns edenwell&sa|.

Write any three of the following in which Question No. 18 is compulsery.

15.

16.

17.

18.

19.

3x3=9

Gang.CrravGurreav wHmb CaprGuoravCurye bl samar Capu@® s

THSHSST(H S(HS.

Differentiate between heterosporous and homosporous condition with an example.

greur Qeeellan LLLD auephgl LITGEISMET GDEEaWD.

Draw a plant cell and label its parts.

adefumrf upd o GHluY — euers.

Write a short note on “Vivipary”.

o it 9ereys saflsafllen QUMESMET 2 SMTETSEIL 6N U igwadl(Hs.

Name the types of Schizocarpic dry fruits with example.

QenLHlene STEUIESET - IETLNIESALD. T(D55I5T_(HS S(HS.

Define Mesophytes with examples.

[ Sy / Turn over



191fley - IV / SECTION - IV

1 2x5=10
SpésTanid damésEnéE el wellEsail. %

Give the answer for the following questions :

20. &Crravey erCarued depstiudsIL Qravh 208 U N & LI LI ITL_Lg-60 60T

aleré@s. (FCsaud 5 uaLser L (HID)
36060
@@méu;‘r, gnmugmg efleur &&e]Lb.

Discuss the Two Kingdom System of classification introduced by Carolus Linnaeus.

(Any 5 points)

OR

Describe the pitcher plant.

21.  avanl GrrCureflsallen Barenn Senivsamer LI iqwisl(Hs.
{60608
UGS saabeuD wapssmaolb Cainubsss.
List out the advantages and disadvantages of Hydroponics.

OR

Differentiate between Dominance and Epistasis.
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LS - I (209 - efevriidued) / PART - I (BIO - ZOOLOGY)

(wHLQueTser : 35) / (Marks : 35)
19fley - I / SECTION - I

GOLy : () oewerss ellanr&sEpsEh eflenafésaL. 8x1=8
i) GCsr@ssuulL premg elamLsailer Wsayb ghymw eflenulaen
Ceibhs®hss GO Hrer el wlmeann Carsgl er(pseab.
Note : (i)  Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

1, @g,-m_r'r Ceaumuraear yrmileuged FOUTE Qsrar® @mbseur :
(1) Qegraenge (<) SrELar
(&) Q& (m) Greuen Gumil
Who was interested in the study of continuous variations ?

(a) Johansen (b) Galton

(c) Mc clung (d) Daven Port

2. “updg euerliLy’ LG Qe Fipieied :

(=1) NIO (<) CIBA (@) MPEDA (/) CMEFRI

The organization involved in pearl oyster culture is :

(@) NIO (b) CIBA () MPEDA (d) CMERI

e [ mLiys / Turn over




srub9en 1881 GrLL Gerer @EAGEES 2-op Qoo iep&sILOEDS

(=) erlenudlen (<p,) Quiflwimeivigwid
(8) <13Gumev e (FF) GTemLmalquiLd
A bone is covered by a double layered sheath called :

(a) Epiphysis (b) Periosteum

(c) Adipose tissue - (d) Endosteum

SipeumeuaeuDmIaT 618 slwrar Ganat e ?

(=) oL Canremiger - L®DHS ETTEIET

(=) @dHeorsaian wenCearmgsar - ananrCarsSiwin

(@) @&HCumevigsm - (Ber-pinbley cumpellaatlen @evenTé @D o udifl
() eafeuameupBlen (penGenmy - < F&EEwTl QLf&a

Which one of the following is not a correct pair ?

(a) Dinosaurs - Extinct group of reptiles

(b) Ancestral horse - Hyracotherium

(c) Ichthyostega - Connecting link between Pisces and amphibians

(d) Ancestral reptile - Archaeopteryx

ered)l 2 _arewtl ere SenLp&sLILI(hieUS

(1) G Goad apljwrearay (<) FCarmiiaflevevr GlsGuimen
(@) wavsr Gl_mpabig & () 2d#Crihur GLers i oLl
Rat flea is known as :

(a) Pediculus humanus (b)  Xenopsylla cheopis

(c) Musca domestica (d) Wouchereria bancrofti

BHNILES ODID auaTaTSEI LFfsefle Lrd Hifemmu :

(=1) ZO - ZZ eflg1d (<) XX - XO 6figid
(@) ZW - ZZ 6flg1d (FF) XX-XY eflgid
The type of sex determination in moths and butterflies is :
(@) ZO-ZZ type (b) XX-XO type

() ZW-ZZtype (d) XX-XY type
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7. &Sabml:  wavaie Sifls Qeuliub GmBSTd, DERTL(PEHET 2i5HGHEHDEUTD)
rHiCswe Lyfldemmer.

STESOTLD 1 LoamL(pellen 2 L Haeubmdled QeuliL o el GUTEIEEGET 2_ETaTe.
(=) sadm oM, QemTed SMraRTd Seum.
(<=3) Spm LHDID sTreDd @ran®GLo &fl. sTyam, FDMIES &
(@) sapm &, @pamed srranbd spep eforssaldme.
(FF) sapml LHOID STFaRTDd @ream(Hbd SUDTETENE.
Assertion : Earthworm shows response to extremely hot temperature in the soil.
Reason : Earthworm has thermoreceptors in the body wall. ‘

(a) Assertion is correct but reason is wrong.
(b) Both assertion and reason are correct. Reason gives correct explanation to

Awres eNeT&ESLOTELD.

Assertion.
(c) Assertion is correct but reason is not explaining assertion.

(d) Both assertion and reason are wrong.

8. mr(&ES SHECHTATSSIET Geranpid GWley :
(1) sm&Carars gevar 250 (=) srevL Crmée
(@) abGoréed () s@sCaTers G
The cavity formed in a gastrula is called :
(a)  Dblastopore (b) gastrocoel
(c) haemocoel (d) blastocoel

Qe - I / SECTION - I
stemeuGignIld BIETE N TESEHES efen_wefl. 4x2=8

Answer any four questions.

9. QepyCuwL (Haaflen el 6\

haracteristic features of the primates.

@ uamenand GG
Mention any two €

THEMET FnMis.

10. Cuoreflyr &1p 2drer GO Qar@dsaflar uw

Name the two phylum which comes under Monera.

mL_lg-60 “GoumLPSSID Sper” GTEMIE) Gresmenr ?

11. memCarréduller GQeweoL!
the functioning of a microscope ?

What is the “limit of resolution” in

A [@@Du&; / Turn over
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12.  yasulene QUL &ET LHMID BriEss BOwns o are o Qsrerams 6diés
Geuanst®b. erem ?

Tobacco usage and non consumption of fibrous food should be avoided. Why ?

13. Ggradlen wrmur@ser @ramgmans GHUAGS.

Name any two skin derivatives.

14. seoypCumyl LTENDSET ETEUDTE) 6Tao6 ?
What is a fringing reef ?
19fley - III / SECTION - III
aCsend epermy AarssErs@ eloLwall euphe oflarm erewr 18 2 1G)
sL_Lmuwng edlenL wafl&seyL. 3x3=9

Write any three of the following in which question No. 18 is compulsory.

15. Qsred Qumils.Qupr updl GHlLY euamrs.

Write notes on Phylum Porifera.

16. ereCanGamld o erer QBTSlser wreney ?

What are the enzymes found in Lysosomes ?

17. erQgenL 1Bl erammmed eremenm ?

What is Epididymis ?

18.  ep(p erenL gré@Leulen ereni 60 HCemdlymb. e 70 SlGCardlymd eranL e
FIé@D GUIg), Dleui 2 L alléd), GEss CFLQIEE BSTOTE QHBEGD Sensser
wrenel ? -

A weight lifter’s weight is 60 kg. When he is lifting 70 kg weight, what are the muscles
supporting for this work ?




19.

Spsargnd elamssEnse eflenwefl&Esa|b.

11

umblen BEhSLIMU LILLD euenhgl LNshismers @,
Draw and label the poison apparatus in a snake.
19fey - IV / SECTION - IV

2x5=10

Answer all the questions.

20.

21.

ABO wafls @rés cuens LDH QSTELIL RN 6T(HSIS.

2160603
SMHEYEMTE] LITeU <SjigLliLienufled @LemLasemm erauaimn cuensLILIBSSIeumil ?
Give an account of ABO blood grouping in human beings.

OR

How will you classify the eggs based on the distribution of yolk ?

gam(heulSglem <epwlibemer LLsgLen alfleurs efleufléseyb.
{60608

gren Caramped CaTLLTH S0 > WG 2 udi Gerenped Camur® ubHb

efleuf&s.

Provide a detailed description of the spinal cord with a labelled diagram.
OR

Give an account of Theory of spontaneous generation or abiogenesis.

-000-



